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ME: 20| EMEBEE
cel: HASE 924 NA(REEII2SH3H) EERE
_ _ _ Muo
2N -3 - c2(3H) - NEME - HES Ol & 'oﬂ/'\_WH HunsZ
FoIMEX A D 673,389 693,534 20,145
2 519,089
Alt] 129,772
2| 24,508
2D EMEEE 673,389 693,534 ~20,145
2 519,089
Alt] 129,772
2| 24,528
HASE o2 NA(A22EII2523H) 673,389 693,534 20,145
2 519,089
Alt] 129,772
2| 24,528
SIZHBLIAL JI A2 2K 127,452 106, 152 21,300
2 101,962
Alt] 25,490
101 Q1244 103,872 106, 152 A2,280
2 83,098
Alt] 20,774
04 JIAH22REL 2 103,872 106, 152 2,280
ooz oi2lA 103,872,000 103,872
2 83,098
Alt] 20,774
201 L% 15,900 0 15,900
2 12,720
Alt] 3,180
01 Al222ldl 15,900 0 15,900
OAIZ2l AREE 719 13,900,000 13,900
2 11,120
Alt] 2,780
OArlI 22l 29H] 2,000,000 2,000
2 1,600
Alt] 400
202 OfH 7.680 0 7,680
2 6,144
Alt] 1,536
01 2L 7,680 0 7,680
O=ZUotl 7.680,0002 7,680
2 6,144
Alt] 1,536
B2 MBHIX 251,230 276,320 A25,090
2 200,984
Alt] 50,246
307 2I2+0| & 251,230 276,320 25,090
2 200,984
Alt] 50,246
01 =Y 2H| 251,230 276,320 25,090
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Cel: HASE ozt R (A225II35Ls ) (29
_ _ SIGE
SA BB CR(SH) - NRAY - A S 0l &k o L RS2
O2d=z=20¢ &zdl N 251,230,000& 251,230
= 200,984
Al 50,246
SBZ0 HLMERT 243,360 243,360 0
= 194,688
AlHI 48,672
307 120/ 243,360 243,360 0
= 194,688
AlHI 48,672
01 Sl 2¥ =2l 243,360 243,360 0
Oodz=20¢ AR 243,360,000 243,360
= 194,688
AlHl 48,672
o220 YREX JI2ZtHZ2E & 6,920 5,612 1,308
= 5,536
AlHI 1,384
101 1218 6.920 5,612 1,308
= 5,536
AlHI 1,384
04 JIZtMZ22XSE+ 6,920 5,612 1,308
O2d=280¢ gREx 6,920,000 6,920
= 5,536
Al 1,384
o220 22L¥ WHIXZ 5,229 4,094 1,135
= 4,183
AlH] 1,046
202 01t 5,229 4,094 1,135
2 4,183
AlHI 1,046
01 =LHA b 5,229 4,094 1,135
Ottt &2+ =Xae] &l 1,819,000& 1,819
= 1,455
AlHl 364
Oz u=s 3,410,000 3,410
= 2,728
AlHl 682
220 Rl 14,670 24,066 A9,396
= 11,736
AlHI 2,934
201 23| 10,070 22,266 212,196
= 8,056
AlHI 2,014
01 AFR22lH| 10,070 22,266 AN 12,196
OMA 2 EE2 AX 9,650,000 9,650
= 7.720
AlHl 1,930
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Cel: HASS o=l N (ZLEISSLaN) CERE
_ _ MuEC
SA - EH . CS(SH) - NRAIY - BHa S 01l & o8 e HRS2
SEEELFELEEEEEE LT e 420
= 336
Al 84
405 X3 S 4,600 1,800 2,800
2 3,680
Al 920
01 A& 2B HSHI 4,600 1,800 2,800
Oodz=0 228 8dFH 1,600,000& 1,600
= 1,280
Al I 320
Oz 428 Zaly 3,000,000 3,000
= 2,400
AlHI 600
ol 814l 24,528 33,930 A9,402
801 0ollglbl 24,528 33,930 A9,402
01 olldlyl 24,528 33,930 A9,402
O bl 24,508, 0002 24,528




